## BID TABULATION GARLAND, INDEPENDENT SCHOOL DISTRICT Exhibit "A"

Bid Rfq Num

116569

Auction 9-25 Disposable Products for Student Title Nutrition Services (SNS)

3PP -Poor product performance 8PS- Failed to provide product sample

Ln#	Award (Y/N)	Reason	1-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
1	N	3PP	Aluminum foil, 18" x 500', heavy duty, .001 gauge, weight 10.7 lbs. per case. 1 roll/box.	400	RL	AR UNLIMITED LLC	17.00	6,800.0
	N	8PS				INFINITY SUPPLY AND SERVICE INCORPORATED	18.87	7,548.0
	N	3PP				*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					DAXWELL	20.80	8,320.0
						*BRAUN BEEF CO INC		
						WEDGE SUPPLY INC	23.93	9,572.0
					ADVANCED BLENDING	24.18	9,672.0	
					EMPIRE PAPER COMPANY	28.31	11,324.0	
					POLLOCK PAPER	31.80	12,720.	
					DISTRIBUTORS  GORDON FOOD	41.19	16,476.	
						SERVICE INC	41.19	16,476.
						Complete Supply	27.66	11,064.
	N	3PP				MANS Distribution	18.67	7,468.
2	N	8PS	Polyester Film, 18" x 2000', clear, pkg. 1 roll/box.	400	RL	*BRAUN BEEF CO INC		
	N	8PS				WEDGE SUPPLY INC	12.39	4,956.
	N	8PS				ADVANCED BLENDING	12.52	5,008.
	Y					DAXWELL	13.65	5,460.
					AR UNLIMITED LLC	15.00	6,000.	
					*THE MASTERS DISTRIBUTION SYSTEMS			
						INFINITY SUPPLY AND SERVICE INCORPORATED	16.02	6,408.

	Award	Reason	1-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)							Price
	1							
						EMPIRE PAPER COMPANY	18.17	7,268.0
						POLLOCK PAPER DISTRIBUTORS	18.26	7,304.
						GORDON FOOD SERVICE INC	24.13	9,652.
						Complete Supply	15.15	6,060.
						MANS Distribution	16.19	6,472.
3	N	8PS	Aprons, domestic made, 1 mil. White hot cast embossed polyethylene apron, 28" x 46" with extra long ties, , pkg. 5/100 boxes per cs.	500	вх	WEDGE SUPPLY INC	3.83	1,916.
	N	8PS				GORDON FOOD SERVICE INC	22.55	11,275.
	N	8PS				POLLOCK PAPER DISTRIBUTORS	44.31	22,155.
	Y					INFINITY SUPPLY AND SERVICE INCORPORATED	59.00	29,500
						EMPIRE PAPER COMPANY	67.16	33,580.
	N	3PP				Complete Supply	4.67	2,335.
	N	8PS				Pyramid School Products	4.99	2,495.
	N	8PS				MANS Distribution	36.55	18,275.
4	Y		Bakery Pan Liners, Parchment, 16 1/2" x 24", Regular release, pkg. 1000/cs.	800	cs	ADVANCED BLENDING INC	37.99	30,392.
						INFINITY SUPPLY AND SERVICE INCORPORATED	43.97	35,176.
						POLLOCK PAPER DISTRIBUTORS	44.19	35,352.
						WEDGE SUPPLY INC	44.46	35,568.
						EMPIRE PAPER COMPANY	55.13	
						EMPIRE PAPER		44,104. 46,720.

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

Ln#	Award Reason (Y/N)	Item Description	Quantity	UOM	Supplier	Price	Extended Price
					MANS Distribution	44.89	35,912.
5	Y-ALT	Bag, Grocery, brown, 1/6-57, 1/6 barrel, 500 ct./bale. Submit Sample	10	BL	INFINITY SUPPLY AND SERVICE INCORPORATED	48.77	487.
					EMPIRE PAPER COMPANY	70.85	708.
					POLLOCK PAPER DISTRIBUTORS	71.09	710.
					WEDGE SUPPLY INC	72.18	721.
					Complete Supply	55.20	552.
	Y				MANS Distribution	48.25	482.
6	Y-ALT	BAG, T-SHIRT, 1000/CS	1,000	cs	INFINITY SUPPLY AND SERVICE INCORPORATED	14.49	14,490.
					POLLOCK PAPER DISTRIBUTORS	19.15	19,150.
					*THE MASTERS DISTRIBUTION SYSTEMS		
					BIOPLANET CORPORATION	20.00	20,000.
					EMPIRE PAPER COMPANY	32.76	32,760.
					DISPOSE N SAVE	33.84	33,840.
					GORDON FOOD SERVICE INC	100.64	100,640.
					WEDGE SUPPLY INC	116.79	116,790.
					Complete Supply	16.96	16,960.
	Y				MANS Distribution	14.35	14,350.
7		Paper Sacks, white, 8 lb., 500/pk. (packed 4/500 per bale). Must purchase in bale quantity only. Note: 40 pk = 10 bales	100	PK	WEDGE SUPPLY INC	0.01	1.
	у				POLLOCK PAPER DISTRIBUTORS	18.91	1,891.
	Y-ALT				INFINITY SUPPLY AND SERVICE INCORPORATED	22.63	2,263.

Ln #		-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended
Ln#	Award Reason (Y/N)	item Description	Quantity	ООМ	Supplier	Price	Price
					EMPIRE PAPER COMPANY	33.57	3,357.00
					Complete Supply	25.49	2,549.00
					MANS Distribution	22.87	2,287.00
8	Υ	Bags, Sandwich, flip lock top, 6-1/2" X 7", domestic made, natural high molecular, high density polyethylene, .6 mil., clear, pkg. 2000/cs.	100	CS	WEDGE SUPPLY INC	6.77	677.00
					POLLOCK PAPER DISTRIBUTORS	7.66	766.00
					INFINITY SUPPLY AND SERVICE INCORPORATED	8.39	839.00
					DISPOSE N SAVE	10.48	1,048.00
				EMPIRE PAPER COMPANY	12.43	1,243.00	
				Complete Supply	15.73	1,573.00	
					MANS Distribution	7.86	786.00
9	N 8PS	Bags, Sandwich, zip lock top, 6-1/2" X 7", 2 mil., clear, pkg. 1000 per cs. Submit Sample	150 BX	вх	DISPOSE N SAVE	14.24	2,136.00
	Υ				WEDGE SUPPLY INC	14.71	2,206.50
					POLLOCK PAPER DISTRIBUTORS	15.31	2,296.50
					INFINITY SUPPLY AND SERVICE INCORPORATED	17.05	2,557.50
					EMPIRE PAPER COMPANY	18.08	2,712.00
					MANS Distribution	17.07	2,560.50
10	Υ	BAG, BAKERY SANDWICH KRAFT WITH FILM, 3 1/2" X 2 1/4" X 7 1/4 WITH WINDOW, 500/CS	300	CS	WEDGE SUPPLY INC	67.71	20,313.00
					INFINITY SUPPLY AND SERVICE INCORPORATED	76.16	
					POLLOCK PAPER DISTRIBUTORS	76.56	
					EMPIRE PAPER COMPANY	141.56	42,468.00

3PP -Poor product performance 8PS- Failed to provide product sample

1 - 21	A		-Unit of Measure other than specified	lous-en	HONG	Cumpling	Drice	Extorded
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						Complete Supply	88.66	26,598.0
						MANS Distribution	76.95	23,085.0
11			BAG, NATURAL PAPER WINDOW BAG, 5" X 7",	, 300	CS	WEDGE SUPPLY INC	0.01	3.0
	Y		500/CS			INFINITY SUPPLY AND SERVICE INCORPORATED	32.52	9,756.0
						POLLOCK PAPER DISTRIBUTORS	34.21	10,263.0
						EMPIRE PAPER COMPANY	37.16	11,148.0
						Complete Supply	35.09	10,527.0
						MANS Distribution	33.17	9,951.0
12	Y		Food Bag, 18" x 24", Domestic made, natural high molecular, high density polyethylene, .6 mil., clear, food storage/freezer bag in dispenser box, fits half sheet pan, Approved	50	CS	WEDGE SUPPLY INC	8.33	416.5
	Brand - Handgards Inc. #FB-24 or equal, pkg 250 per cs.			POLLOCK PAPER DISTRIBUTORS	9.42	471.0		
						DISPOSE N SAVE	10.82	541.0
						EMPIRE PAPER COMPANY	16.26	813.0
						INFINITY SUPPLY AND SERVICE INCORPORATED	21.52	1,076.0
						Complete Supply	17.63	881.5
						MANS Distribution	21.76	1,088.0
13	Y		Rack Covers, 52" X 80", domestic made, natural high molecular, high density polyethylene, .6 mil., full bun rack cover in dispenser box, pkg. 1/50 ct.	150	CS	ADVANCED BLENDING INC	10.19	1,528.5
						CENTRAL POLY-BAG CORPORATION	12.40	1,860.0
						DISPOSE N SAVE	13.24	1,986.0
						WEDGE SUPPLY INC	14.58	2,187.0
						INFINITY SUPPLY AND SERVICE INCORPORATED	16.75	2,512.5
						POLLOCK PAPER DISTRIBUTORS	16.86	2,529.0

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

Ln #	Award Reason (Y/N)	M-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price	
	(1714)						Trice	
					EMPIRE PAPER COMPANY	22.43	3,364.5	
					GORDON FOOD SERVICE INC	27.88	4,182.0	
					Complete Supply	13.61	2,041.5	
					MANS Distribution	16.93	2,539.5	
14	Y	FOOD CONTAINER, FOAM, WHITE, DISPOSABLE, 6OZ, DART #6SJ12 OR	300	CS	WEDGE SUPPLY INC	33.98	10,194.0	
		EQUIVALENT			GORDON FOOD	37.02	11,106.0	
					SERVICE INC		,	
						INFINITY SUPPLY AND SERVICE INCORPORATED	39.19	11,757.0
					POLLOCK PAPER DISTRIBUTORS	40.77	12,231.0	
					EMPIRE PAPER COMPANY	56.60	16,980.	
					Complete Supply	45.25	13,575.	
					MANS Distribution	39.20	11,760.	
15	Y	FOOD CONTAINER LID, 3-1/2" VENTED WHITE, POLYSTYRENE, MUST FIT 6 OZ FOOD	300	CS	WEDGE SUPPLY INC	21.70	6,510.	
		CONTAINER, DART# 12JL OR EQUIVALENT			INFINITY SUPPLY AND SERVICE	23.58	7,074.	
					INCORPORATED POLLOCK PAPER	24.53	7,359.0	
					DISTRIBUTORS	20.50	0.150	
					EMPIRE PAPER COMPANY	30.50	9,150.	
					Complete Supply	27.38	8,214.	
					MANS Distribution	23.58	7,074.	
16	γ BOWL, 28 OZ BAGASSE OVAL, DART# 28BBS0 OR SIMILAR	BOWL, 28 OZ BAGASSE OVAL, DART# 28BBSC OR SIMILAR	1,200	CS	WEDGE SUPPLY INC	41.00	49,200.	
					BIOPLANET CORPORATION	43.00	51,600.	
					44.56			

3PP -Poor product performance 8PS- Failed to provide product sample

		8UM	Failed to provide product sample I-Unit of Measure other than specified					
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						POLLOCK PAPER DISTRIBUTORS	46.36	55,632.00
						Complete Supply	52.06	62,472.00
						MANS Distribution	44.10	52,920.00
17	N	8PS	LID, PET CLEAR DOME, MUST FIT 28 OZ BAGASSE BOWL, 300/CS, DART # PET 28BBDL, OR SIMILAR	600	CS	BIOPLANET CORPORATION	25.50	15,300.00
	Y					INFINITY SUPPLY AND SERVICE INCORPORATED	49.03	29,418.00
						POLLOCK PAPER DISTRIBUTORS	53.67	32,202.00
						WEDGE SUPPLY INC	65.42	39,252.00
18	18 N	8PS	Cups, 16 oz., clear plastic PET cup, pkg. 1000/cs, Must have matching Lid and insert available, Dart # TR16 or similar. Submit	500	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	N 8PS  N 8PS	Sample			AR UNLIMITED LLC	39.00	19,500.00	
					INFINITY SUPPLY AND SERVICE INCORPORATED	47.93	23,965.00	
	Y					GORDON FOOD SERVICE INC	80.87	40,435.00
	Y-ALT					WEDGE SUPPLY INC	81.74	40,870.00
						POLLOCK PAPER DISTRIBUTORS	90.41	45,205.00
						Complete Supply	108.08	54,040.00
	N	8PS				MANS Distribution	47.45	23,725.00
	N	8PS				Pyramid School Products	64.54	32,270.00
19	Y		Cup Insert, 3.5 oz clear 1000/CS. To fit 12/16oz. Clear Cup and lid. Dart #PF35C1 or Similar. Submit Sample	100	CS	WEDGE SUPPLY INC	60.26	6,026.00
						INFINITY SUPPLY AND SERVICE INCORPORATED	66.19	6,619.00
						POLLOCK PAPER DISTRIBUTORS	66.65	6,665.00
						Complete Supply	79.39	7,939.00
			The District solicited 567 supplies					

#### \*Confidential

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
			T			MANS Distribution	66.20	6,620.
							55.25	3,626.
20	N	8PS	Lid flat, 12/16 OZ X-SLOT, 1000/CS, Must fit 12/16 oz cup. Clear plastic. Dart # 662TS or similar.	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	N	8PS				INFINITY SUPPLY AND SERVICE INCORPORATED	20.72	2,072.
	N	4NS				WEDGE SUPPLY INC	29.35	2,935.
	Υ					POLLOCK PAPER DISTRIBUTORS	33.19	3,319.
						EMPIRE PAPER COMPANY	43.51	4,351.
	Y-ALT					Complete Supply	35.84	3,984.
	N	8PS				MANS Distribution	20.72	2,072.
21	N	8PS	Lid, Dome No Hole, Must fit 12/16oz clear plastic cup. Dart # DNR662 or similar. Submit Sample	300	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	N	4NS				INFINITY SUPPLY AND SERVICE INCORPORATED	37.92	11,376
	Y					WEDGE SUPPLY INC	53.83	16,149.
						POLLOCK PAPER DISTRIBUTORS	60.87	18,261
						EMPIRE PAPER COMPANY	79.80	23,940
						Complete Supply	58.08	17,424
	N	4NS				MANS Distribution	37.53	11,259.
22			CONTAINER, 32 OZ BAGASSE, 8 1/4 X 5 1/2 X 2 1/4, REGTANGULAR	400	CS	WEDGE SUPPLY INC	0.01	4
	Υ					INFINITY SUPPLY AND SERVICE INCORPORATED	109.83	43,932
						POLLOCK PAPER DISTRIBUTORS	116.84	46,736
						MANS Distribution	111.16	44,464
23			LID, RECTANGULAR, FLAT, CLEAR, FITS 32 OZ BAGASSE	400	CS	WEDGE SUPPLY INC	0.01	4
	Υ		J. ICHOOL			INFINITY SUPPLY AND SERVICE INCORPORATED	44.53	17,812

The District solicited 567 suppliers and received 20 responses.

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						POLLOCK PAPER DISTRIBUTORS	46.80	18,720.0
						MANS Distribution	44.53	17,812.0
24	Y		CONTAINER, TAKE-OUT, 9 X 9 1/2 X 3, HINGED TOP, CLEARSEAL	650	CS	POLLOCK PAPER DISTRIBUTORS	49.47	32,155.5
	Y-ALT					INFINITY SUPPLY AND SERVICE	64.32	41,808.0
						INCORPORATED  WEDGE SUPPLY INC	112.73	73,274.5
						WESSESSITETING	112.73	73,274.3
						EMPIRE PAPER COMPANY	143.30	93,145.0
						Complete Supply	55.60	36,140.0
						MANS Distribution	66.21	43,036.5
25	25 Y		CONTAINER, TAKE-OUT, 5-6" SQUARE, HINGED TOP, CLEARSEAL, DART ITEM # PET25UT1 OR SIMILAR	200	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	47.63	9,526.0
						EMPIRE PAPER COMPANY	69.55	13,910.0
						WEDGE SUPPLY INC	75.09	15,018.0
						POLLOCK PAPER DISTRIBUTORS	83.06	16,612.0
						Complete Supply	95.95	19,190.0
						MANS Distribution	49.01	9,802.0
26			CONTAINER, 6 X 8, HINGED CLEAR LID, LIME GREEN BOTTOM, SHORT SIDE OPENING	400	CS	WEDGE SUPPLY INC	0.01	4.(
	Y					INFINITY SUPPLY AND SERVICE INCORPORATED	102.16	40,864.0
						POLLOCK PAPER DISTRIBUTORS	110.89	44,356.0
	N	8PS				MANS Distribution	71.63	28,652.0
27			CONTAINER/LID COMBO, 28-32 OZ, BLACK RECTANGULAR, MICROWAVABLE PLASTIC	200	CS	WEDGE SUPPLY INC	0.01	2.0
	N	8PS				EMPIRE PAPER COMPANY	24.78	4,956.
						INFINITY SUPPLY AND	43.32	8,664.

# 3PP -Poor product performance

8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

Ln #	Award Reason	JM-Unit of Measure other than specified  Item Description	Quantity	UOM	Supplier	Price	Extended
211 //	(Y/N)	icem Sessiption	Quantity	oom	Supplie	, nec	Price
					POLLOCK PAPER DISTRIBUTORS	45.06	9,012.00
					Complete Supply	41.59	8,318.00
	Y				MANS Distribution	42.89	8,578.00
28	Y	Sandwich Wedge Container, approximate size 4-3/8" X 3" X 3-1/4". Clear plastic. Submit Sample.	200	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	37.59	7,518.00
					POLLOCK PAPER DISTRIBUTORS	40.02	8,004.00
					WEDGE SUPPLY INC	108.98	21,796.00
					Complete Supply	48.68	9,736.00
					MANS Distribution	38.65	7,730.00
29	Υ	Sandwich Sub container, hinged lid, clear plastic, 9 1/2"x 5 1/4" x 3 1/2" approximate. 200/cs. Atrium # 29250 or similar	200	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	32.75	6,550.00
					POLLOCK PAPER DISTRIBUTORS	34.85	6,970.0
					WEDGE SUPPLY INC	69.51	
					Complete Supply	36.45	
					MANS Distribution	34.78	
30	Y	Snack Tray, 3 pocket, black 17.5 mil OPS, 6 3/5"x5"x1.5", 1000/case. Approved Brand-Atrium #21903 or similar.	100	cs	GORDON FOOD SERVICE INC	83.97	
	Y-ALT				INFINITY SUPPLY AND SERVICE INCORPORATED	90.09	
					POLLOCK PAPER DISTRIBUTORS	96.07	
					WEDGE SUPPLY INC	127.73	, i
					Complete Supply	99.50	
					MANS Distribution	92.77	
31	Y	Lid for Snack Tray, Universal, clear 10 mil OPS, 6 7/8"x5 5/16"x1.5", 1000/case. Approved Brand- Atrium #21939 or similar.	250	ICS	GORDON FOOD SERVICE INC	52.70	13,175.00

3PP -Poor product performance
8PS- Failed to provide product sample

Award Reason (Y/N)	Item Description	Quantity	UOM	Supplier	Price	Extended Price
T	_			INTERNETY CURRY AND	62.40	45 525 04
Y-ALT				SERVICE INCORPORATED	62.10	15,525.00
				POLLOCK PAPER DISTRIBUTORS	66.19	16,547.50
				WEDGE SUPPLY INC	90.33	22,582.50
				Complete Supply	70.95	17,737.50
				MANS Distribution	63.92	15,980.00
Y	paperboard, poly-lined inside and outside, made for hot soup, white with clear lid preferred. Cup and Lid included in case.	450	CS	POLLOCK PAPER DISTRIBUTORS	32.43	14,593.50
	Submit Sample.			WEDGE SUPPLY INC	74.79	33,655.50
				INFINITY SUPPLY AND SERVICE INCORPORATED	101.33	45,598.50
Y-ALT				Complete Supply	42.26	19,017.00
			MANS Distribution	102.40	46,080.00	
Y	BOWL, 16 OZ, BLACK (500/CS), ATRIUM PKG # 24017 OR SIMILAR	200	CS	WEDGE SUPPLY INC	45.41	9,082.00
				GORDON FOOD SERVICE INC	52.60	10,520.00
				INFINITY SUPPLY AND SERVICE INCORPORATED	55.49	11,098.00
				POLLOCK PAPER DISTRIBUTORS	59.12	11,824.00
				Complete Supply	62.60	12,520.00
				MANS Distribution	57.10	11,420.00
	Portion Trays, OVS, Black, 6 Fluid Ounce, Bid	800	CS	WEDGE SUPPLY INC	0.01	8.00
Y	12.5 Ors. submit sample			INFINITY SUPPLY AND SERVICE INCORPORATED	61.18	48,944.00
				POLLOCK PAPER DISTRIBUTORS	63.78	51,024.00
				EMPIRE PAPER COMPANY	83.96	67,168.00
	Y-ALT Y	Y-ALT  Soup Container, 10-12 oz., Made of paperboard, poly-lined inside and outside, made for hot soup, while with clear lid preferred. Cup and Lid included in case. Submit Sample.  Y-ALT  BOWL, 16 OZ, BLACK (500/CS), ATRIUM PKG # 24017 OR SIMILAR  Portion Trays, OVS, Black, 6 Fluid Ounce, Bid 12.5 OPS, Submit Sample	Y-ALT  Y Soup Container, 10-12 oz., Made of opertoard, poly-lined inside and outside, made for hot soup, white with clear lid preferred. Cup and Lid included in case.  Submit Samole.  Y-ALT  Y BOWL, 16 OZ, BLACK (500/CS), ATRIUM PKG # 200 24017 OR SIMILLAR  Portion Trays, OVS, Black, 6 Fluid Ounce, Bid 12:5 OPS, Submit Sample	Y-ALT  Y Soup Container, 10-12 oz., Made of paperboard, poly-lined inside and outside, made for hot soup, white with clear lid preferred. Jugan dt lid included in case.  Submit Samole.  Y-ALT  Y BOWL, 16 OZ, BLACK (500/CS), ATRIUM PKG # 200 CS 24017 OR SIMILAR  Portion Trays, OVS, Black, 6 Fluid Ounce, Bid 12.50 PS, Submit Sample	Y-ALT  Soup Container, 10-12 out, Made of Service INCORPORATED  POLLOCK PAPER DISTRIBUTIONS  WEDGE SUPPLY INC.  Complete Supply  MAINS Distribution  AMAIN Distribution  AMAIN Distribution  WEDGE SUPPLY INC.  WEDGE SUPPLY INC.  INTINITY SUPPLY AND SERVICE INCORPORATED  WEDGE SUPPLY INC.  WEDGE SUPPLY INC.  WEDGE SUPPLY INC.  INTINITY SUPPLY AND SERVICE INCORPORATED  AMAIN Distribution  WEDGE SUPPLY INC.  WEDGE SUPPLY INC.  ORDINATED SERVICE INCORPORATED  AMAIN DISTRIBUTIONS  WEDGE SUPPLY INC.  ORDINATED SERVICE INCORPORATED  OSTRIBUTIONS  ORDINATED SERVICE INCORPORATED  POLICOR PAPER  OSTRIBUTIONS  OSTRIBUTIONS  ORDINATED SERVICE INCORPORATED  AMAIN DISTRIBUTIONS  ORDINATED SERVICE INCORPORATED  POLICOR PAPER  OSTRIBUTIONS  OMAIN DISTRIBUTIONS  OMAIN DISTR	V-ALT

3PP -Poor product performance
8PS- Failed to provide product sample

Ln#	Award	8UM Reason	-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended	
	(Y/N)							Price	
						MANS Distribution	62.97		
35	N	8PS	Portion Trays, OVS, Black, 8 Fluid Ounce, Bid 12.5 mil OPS. Submit Sample	1,500	CS	WEDGE SUPPLY INC	27.07	40,605.00	
	Y					INFINITY SUPPLY AND SERVICE INCORPORATED	59.71	89,565.00	
						POLLOCK PAPER DISTRIBUTORS	60.93	91,395.00	
						EMPIRE PAPER COMPANY	82.48	123,720.00	
						Complete Supply	64.20	96,300.00	
						MANS Distribution	60.83	91,245.00	
36			Portion Trays, Universal Lids, fits OVS 9 mil through 15 mil. Submit Sample.	100	CS	WEDGE SUPPLY INC	0.01	1.00	
	Υ		amough 13 mm. Submit Sample.				INFINITY SUPPLY AND SERVICE INCORPORATED	73.01	7,301.00
						POLLOCK PAPER DISTRIBUTORS	77.82	7,782.00	
						EMPIRE PAPER COMPANY	107.38	10,738.00	
						MANS Distribution	74.39	7,439.00	
37	Y		Compartment Tray with hinged lid, 3 compartments, styrofoam, 8" x 8 1/4", white, pkg. 200/cs.	100	CS	WEDGE SUPPLY INC	16.84	1,684.00	
					SERVIC INCORF POLLOG DISTRIE	INFINITY SUPPLY AND SERVICE INCORPORATED	18.50	1,850.00	
						POLLOCK PAPER DISTRIBUTORS	19.04	1,904.00	
							EMPIRE PAPER COMPANY	27.20	
						Complete Supply	20.63	2,063.00	
						MANS Distribution	17.98	1,798.00	
38	Y		Cups, 8 oz., insulated styrofoam. Dart #8J8 or similar, 1000/cs.	180	cs	WEDGE SUPPLY INC	22.94	4,129.20	
						GORDON FOOD SERVICE INC	24.42	4,395.60	
			The District solicited 567 supplie			INFINITY SUPPLY AND SERVICE INCORPORATED	24.93	4,487.40	

3PP -Poor product performance 8PS- Failed to provide product sample

	Award Reason	M-Unit of Measure other than specified  Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)						Price
					POLLOCK PAPER	25.37	4,566.6
					DISTRIBUTORS		
					EMPIRE PAPER COMPANY	33.91	6,103.8
					Complete Supply	28.24	5,083.2
					MANS Distribution	24.42	4,395.6
39	Y	LID FLAT, 8 OZ, DART #8UL, MUST FIT DART CUP 8J8	100	CS	GORDON FOOD SERVICE INC	17.19	1,719.0
					WEDGE SUPPLY INC	20.57	2,057.0
					INFINITY SUPPLY AND SERVICE	22.60	2,260.
					INCORPORATED		
					POLLOCK PAPER DISTRIBUTORS	22.76	2,276.
	Y-ALT				EMPIRE PAPER COMPANY	29.99	2,999.
					MANS Distribution	21.91	2,191.
40	Y	CUPS, 12 OZ., INSULATED STYROFOAM, DART # 12J12 OR SIMILAR, 1000/CS, SUMBIT SAMPLE	125 CS	S CS	WEDGE SUPPLY INC	32.55	4,068.
					INFINITY SUPPLY AND SERVICE INCORPORATED	35.38	4,422.
					POLLOCK PAPER DISTRIBUTORS	36.01	4,501.
					EMPIRE PAPER COMPANY	43.82	5,477.
					Complete Supply	40.84	5,105.
					MANS Distribution	35.02	4,377.
41	N 8PS	CUP, 9 OZ SQUAT CLEAR, PLASTIC, SOLO # TP9R, OR SIMILAR	250	) CS	AR UNLIMITED LLC	33.00	8,250.
	Y				WEDGE SUPPLY INC	46.51	11,627.
				BIOPLANET CORPORATION	48.50	12,125.	
				INFINITY SUPPLY AND SERVICE	50.55	12,637.	

Ln#	Award Reason	JM-Unit of Measure other than specified  Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)						Price
					POLLOCK PAPER DISTRIBUTORS	51.44	12,860.00
					EMPIRE PAPER COMPANY	67.72	16,930.00
					Complete Supply	49.57	12,392.50
					MANS Distribution	49.53	12,382.50
42	N 8PS	Food Tray, #200, 4/250 boxes per cs.	600	CS	WEDGE SUPPLY INC	20.41	12,246.00
	Y				ADVANCED BLENDING	21.69	13,014.00
					*MYECOPLANET LLC		
					INFINITY SUPPLY AND SERVICE INCORPORATED	22.83	13,698.00
				POLLOCK PAPER DISTRIBUTORS	24.16	14,496.00	
				*THE MASTERS DISTRIBUTION SYSTEMS			
					AR UNLIMITED LLC	28.00	16,800.00
					GORDON FOOD SERVICE INC	29.65	17,790.00
					EMPIRE PAPER COMPANY	37.81	22,686.00
					Complete Supply	25.55	15,330.00
					MANS Distribution	22.28	13,368.00
43	Y	Food Tray, #300, size 9" x 7", pkg. 500/cs. Submit Sample	300	CS	*MYECOPLANET LLC		
				WEDGE SUPPLY INC	17.25	5,175.00	
				INFINITY SUPPLY AND SERVICE INCORPORATED	17.61	5,283.00	
				ADVANCED BLENDING INC	17.96	5,388.00	
					POLLOCK PAPER DISTRIBUTORS	18.39	5,517.00
ı		The District of Park 1505	1	ı	L		

Ln#	Award Reason	M-Unit of Measure other than specified  Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)						Price
					******		
					*THE MASTERS DISTRIBUTION		
					SYSTEMS		
					GORDON FOOD SERVICE INC	23.53	7,059.0
					52525		
					AR UNLIMITED LLC	26.00	7,800.0
					EMPIRE PAPER COMPANY	26.19	7,857.0
					Complete Supply	21.77	6,531.0
					MANS Distribution	16.98	5,094.0
		Fred Tree UFO 4/2 lb C' a Cll 4ll (a cod)	700		WED CE CURRIY INC	7.20	5 402 0
44	N 8PS	Food Tray, #50, 1/2 lb., Size 6" x 4" (curved), packaged 1000/cs. Submit Sample	700	CS	WEDGE SUPPLY INC	7.29	5,103.0
	Υ				ADVANCED BLENDING INC	15.87	11,109.0
					*MYECOPLANET LLC	16.05	11,235.0
					INFINITY SUPPLY AND	16.07	11 970 0
					SERVICE INCORPORATED	16.97	11,879.0
					INCORPORATED		
					POLLOCK PAPER DISTRIBUTORS	17.96	12,572.0
					EMPIRE PAPER	26.26	18,382.0
					COMPANY		
					Complete Supply	19.91	13,937.0
					Complete Supply	15.51	13,337.0
					MANS Distribution	16.49	11,543.0
45	Υ	Forks, Polypropylene, Medium weight, White,	25	CS	WALLACE PACKAGING	5.24	131.0
		bulk pack, pkg. 1000/cs. Submit Sample					
					DAXWELL	5.33	133.2
					POLLOCK PAPER DISTRIBUTORS	5.58	139.5
				INFINITY SUPPLY AND SERVICE	6.95	173.7	
				INCORPORATED			
				WEDGE SUPPLY INC	7.29	182.2	
				EMPIRE PAPER COMPANY	7.88	197.0	
		The District solicited 567 supplie					

3PP -Poor product performance 8PS- Failed to provide product sample

		Failed to provide product sample 1-Unit of Measure other than specified		_			
Ln#	Award Reason (Y/N)	Item Description	Quantity	UOM	Supplier	Price	Extended Price
					Complete Supply	7.33	183.25
					MANS Distribution	6.95	173.7
46		PANLINERS, OVENABLE, CONTOUR FIT FOR	100	CS	WEDGE SUPPLY INC	0.01	1.00
	Y	HOTEL PANS			EMPIRE PAPER COMPANY	36.81	3,681.00
					INFINITY SUPPLY AND SERVICE INCORPORATED	63.68	6,368.00
					MANS Distribution	63.20	6,320.00
47	N 8PS	PIZZA BOX, SINGLE SLICE HOLDER, KRAFT, 9"X9 3/8X 11/2"	500	CS	GORDON FOOD SERVICE INC	47.54	23,770.00
	N 8PS				EMPIRE PAPER COMPANY	67.88	33,940.00
	Y-ALT				INFINITY SUPPLY AND SERVICE INCORPORATED	70.66	35,330.00
					POLLOCK PAPER DISTRIBUTORS	73.44	36,720.0
					*ALPHA FOODS CO		
					WEDGE SUPPLY INC	118.75	59,375.00
	N 8PS				Complete Supply	51.10	25,550.00
	Y				MANS Distribution	70.14	35,070.00
48	N 8PS	PIZZA BOX, 16" X 16" X 2" KRAFT CORRUGATED PIZZA BOX	600	CS	WEDGE SUPPLY INC	23.12	13,872.00
	Y-ALT				INFINITY SUPPLY AND SERVICE INCORPORATED	27.31	16,386.0
					POLLOCK PAPER DISTRIBUTORS	28.09	16,854.0
					GORDON FOOD SERVICE INC	30.30	18,180.0
					Complete Supply	27.33	16,398.0
	Y				MANS Distribution	26.76	16,056.0
49	Y	Spoons, Polypropylene, Medium weight, White, bulk pack, pkg. 1000/cs. Submit Sample The District solicited 567 supplie		CS	WALLACE PACKAGING	5.24	131.0

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

Ln #	Award Reason (Y/N)	1-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(1714)						riice
					DAXWELL	5.33	133.2
					POLLOCK PAPER	6.36	159.0
					DISTRIBUTORS	0.30	133.0
					INFINITY SUPPLY AND SERVICE	6.95	173.7
					INCORPORATED		
					EMPIRE PAPER COMPANY	7.28	182.0
					WEDGE SUPPLY INC	7.29	182.2
					Complete Supply	7.79	194.7
					,		
					D d C. b d	0.00	247.5
					Pyramid School Products	9.89	247.2
					MANS Distribution	6.95	173.7
50	Y	KNIVES PLASTIC 1000/CT	25	CS	WALLACE PACKAGING	5.24	131.0
					DAXWELL	5.33	133.2
					POLLOCK PAPER	5.58	139.5
					DISTRIBUTORS		
					INFINITY SUPPLY AND	6.95	173.7
					SERVICE INCORPORATED	0.53	173
					WEDGE SUPPLY INC	7.29	182.2
					EMPIRE PAPER COMPANY	7.68	192.0
					Complete Supply	7.79	194.7
					Pyramid School	9.89	247.2
					Products		
					MANS Distribution	6.05	172
					מווזאטווזאט כאואואו	6.95	173.7
51	Y-ALT	Napkins, white, tall fold, 7" x 13 1/2", folded size 3 1/2 x 6 3/4, pkg. 10,000/cs. Submit	200	cs	INFINITY SUPPLY AND SERVICE	25.44	5,088.0
		Sample			INCORPORATED		
					*THE MASTERS DISTRIBUTION	25.75	5,150.0
					SYSTEMS		
					AR UNLIMITED LLC	26.00	5,200.0
					AR UNLIMITED LLC	26.00	5,200.0

	Award (Y/N)	Reason	-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
						DAXWELL	28.23	5,646.0
						WEDGE SUPPLY INC	37.62	7,524.0
						EMPIRE PAPER COMPANY	55.41	11,082.0
						POLLOCK PAPER	62.78	12,556.0
						DISTRIBUTORS		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Y					MANS Distribution	25.15	5,030.0
52	N	<b>U</b>	Nap-Pak, medium weight, consists only of napkin (13" x 13"), spoon, fork, and straw (5 1/2" or 6"). Polypropylene, bulk packaging., 500/cs.	17,000	CS	WALLACE PACKAGING	8.98	152,660.0
	Y					DAXWELL	9.40	159,800.0
						BIOPLANET CORPORATION	9.75	165,750.0
					GORDON FOOD SERVICE INC	11.22	190,740.0	
					AR UNLIMITED LLC	11.50	195,500.0	
					WEDGE SUPPLY INC	12.47	211,990.0	
						INFINITY SUPPLY AND SERVICE INCORPORATED	13.47	228,990.0
						EMPIRE PAPER COMPANY	25.68	436,560.0
						POLLOCK PAPER DISTRIBUTORS	30.45	517,650.0
						Complete Supply	22.96	390,320.0
						MANS Distribution	13.33	226,610.0
53	Υ		Glove, disposable, Nitrile, powder free, large.	2,000	CS	AR UNLIMITED LLC	17.50	35,000.0
	N	8PS				*THE MASTERS DISTRIBUTION SYSTEMS		
						INFINITY SUPPLY AND SERVICE INCORPORATED	21.85	43,700.0

3PP -Poor product performance 8PS- Failed to provide product sample

			Failed to provide product sample -Unit of Measure other than specified					
Ln#	Award (Y/N)		Item Description	Quantity	UOM	Supplier	Price	Extended Price
						DAXWELL	24.56	49,120.00
						WEDGE SUPPLY INC	28.48	56,960.00
						*UNIPAK CORP		
						POLLOCK PAPER DISTRIBUTORS	31.69	63,380.00
						RICE BAKAYOKO ROSALYNN	35.90	71,800.00
						EMPIRE PAPER COMPANY	38.64	77,280.00
						GORDON FOOD SERVICE INC	57.40	114,800.00
						Complete Supply	30.31	60,620.00
	N	8PS				Pyramid School Products	3.59	7,180.00
					MANS Distribution	21.63	43,260.00	
54	Y		Glove, disposable, Nitrile, powder free, medium.	2,500	cs	AR UNLIMITED LLC	17.50	43,750.00
	N	8PS				*THE MASTERS DISTRIBUTION SYSTEMS		
						INFINITY SUPPLY AND SERVICE INCORPORATED		
						DISPOSE N SAVE	23.90	
						DAXWELL	24.56	
						WEDGE SUPPLY INC	28.48	71,200.00
						*UNIPAK CORP  POLLOCK PAPER	31.63	79,075.00
						DISTRIBUTORS  RICE BAKAYOKO	35.90	
						ROSALYNN  EMPIRE PAPER	33.90	
			The District solicited 567 supplie			COMPANY	33.04	33,000.00

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

	Award (Y/N)	Reason	-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
						GORDON FOOD SERVICE INC	57.40	143,500.0
						SERVICE INC		
						Complete Supply	30.31	75,775.0
	N	8PS				Pyramid School	3.59	8,975.0
						Products		
						MANS Distribution	21.63	54,075.0
55	Υ		Glove, disposable, Nitrile, powder free, Small.	1,000	CS	AR UNLIMITED LLC	17.50	17,500.0
	N	8PS				*THE MASTERS DISTRIBUTION SYSTEMS		
						INFINITY SUPPLY AND SERVICE	21.85	21,850.0
						INCORPORATED		
						DISPOSE N SAVE	23.90	23,900.0
					DAXWELL	24.56	24,560.	
					WEDGE SUPPLY INC	28.48	28,480.	
						*UNUDAY CODD	20.70	20 700
						*UNIPAK CORP	29.70	29,700.0
						POLLOCK PAPER DISTRIBUTORS	31.63	31,630.
						RICE BAKAYOKO ROSALYNN	35.90	35,900.
						EMPIRE PAPER	38.64	38,640.0
						COMPANY		
						GORDON FOOD SERVICE INC	50.40	50,400.
						Complete Supply	30.31	30,310.
	N 8PS				Pyramid School Products	3.59	3,590.	
				MANS Distribution	21.63	21,630.		
				2.25	CC.	*THE AAACTES		
56	N	8PS	Glove, disposable, Nitrile, powder free, x-large	2,000	ics	*THE MASTERS DISTRIBUTION SYSTEMS		
						Complete Supply	30.31	60,620.

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price	
	Υ					AR UNLIMITED LLC	19.00	38,000.	
						INFINITY SUPPLY AND SERVICE INCORPORATED	21.85	43,700.	
						DISPOSE N SAVE	23.90	47,800.	
						DAXWELL	24.56	49,120.	
						WEDGE SUPPLY INC	28.48	56,960.	
						*UNIPAK CORP			
						POLLOCK PAPER DISTRIBUTORS	31.63	63,260.	
						RICE BAKAYOKO ROSALYNN	35.90	71,800.	
						EMPIRE PAPER COMPANY	38.64	77,280	
							GORDON FOOD SERVICE INC	57.40	114,800.
	N	8PS				Pyramid School Products	3.59	7,180.	
						MANS Distribution	21.63	43,260	
57	Y		Gloves, Disposable, large size, domestic made, clear, smooth 1-1/4 mil., low density polyethylene glove with offset, gauntlet cuffs.	400	CS	DISPOSE N SAVE	5.88	2,352.	
						DAXWELL	7.97	3,188.	
						WEDGE SUPPLY INC	10.04	4,016.	
						INFINITY SUPPLY AND SERVICE INCORPORATED	13.64	5,456.	
						RICE BAKAYOKO ROSALYNN	15.90	6,360.	
						POLLOCK PAPER DISTRIBUTORS	39.39	15,756.	
						Pyramid School Products	5.99	2,396.	
						MANS Distribution	13.36	5,344.	

	Award Reason	I-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(Y/N)						rice
58	Υ	Gloves, Disposable, medium size, domestic made, clear, smooth 1-1/4 mil., low density	500	CS	DISPOSE N SAVE	5.88	2,940.00
		polyethylene glove with offset, gauntlet cuffs.					
					DAXWELL	7.97	3,985.00
					WEDGE SUPPLY INC	10.04	5,020.00
							ŕ
					INFINITY SUPPLY AND	13.64	6,820.00
					SERVICE INCORPORATED	13.04	0,820.00
					POLLOCK PAPER DISTRIBUTORS	39.72	19,860.00
					Pyramid School Products	5.99	2,995.00
					MANS Distribution	13.36	6,680.00
59	Υ	Gloves, Disposable, Small size, domestic made, clear, smooth 1-1/4 mil., low density	200	CS	DISPOSE N SAVE	5.88	1,176.00
		polyethylene glove with offset, gauntlet cuffs.					
					DAXWELL	7.97	1,594.00
					WEDGE SUPPLY INC	10.04	2,008.00
					INFINITY SUPPLY AND	13.64	2,728.00
					SERVICE INCORPORATED	25.0 .	2,7 20.00
					DOLLOCK DARED	20.20	7 070 00
					POLLOCK PAPER DISTRIBUTORS	39.39	7,878.00
					Pyramid School Products	5.99	1,198.00
					MANS Distribution	13.36	2,672.00
60	NA	HAIRNETS, INVISIBLE, REGULAR SIZE	200	CS	WEDGE SUPPLY INC	7.67	1,534.00
					INFINITY SUPPLY AND SERVICE	9.65	1,930.00
					INCORPORATED EMPIRE PAPER COMPANY	17.88	3,576.00
					DISPOSE N SAVE	82.00	16,400.00
					POLLOCK PAPER	165.29	
					DISTRIBUTORS		
					Complete Supply  Pyramid School	61.43 99.90	
					Products  MANS Distribution	9.78	
61		LABEL, DISSOLVABLE FOOD ROTATION, 2" X 1	1,000	CS	WEDGE SUPPLY INC	0.01	10.00
	N 1NL	1/4"			POLLOCK PAPER	24.71	24,710.00
	_,,,				DISTRIBUTORS		
	Y				GORDON FOOD	43.70	43,700.00
					SERVICE INC		, 23.00
		The District solicited 567 supplie	rs and re	ceived 20	)		

Ln#	Award (Y/N)	Reason	I-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
	N	8PS				MANS Distribution	12.50	12,500.0
62	Y		Souffle Cups, 1 oz., plastic, white, 5000/cs. Submit Sample	80	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	11.95	956.0
						POLLOCK PAPER DISTRIBUTORS	14.21	1,136.8
						AR UNLIMITED LLC	19.00	1,520.0
						EMPIRE PAPER COMPANY	22.67	1,813.6
						WEDGE SUPPLY INC	42.50	3,400.0
		γ Souffle Cup Lids, clear plastic, must fit 1 oz.			MANS Distribution	11.96	956.8	
63	53 Y		Souffle Cup Lids, clear plastic, must fit 1 oz. souffle cup, pkg. 10/250 pkg. per cs.	100	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	9.01	901.0
						POLLOCK PAPER DISTRIBUTORS	11.24	1,124.
					WEDGE SUPPLY INC	12.38	1,238.0	
					*THE MASTERS DISTRIBUTION SYSTEMS			
					AR UNLIMITED LLC	19.00	1,900.	
					EMPIRE PAPER COMPANY	22.67	2,267.	
						MANS Distribution	9.10	910.0
64	Y		Souffle Cups, 2 oz., translucent, plastic, 10/250 pkg. per cs. Submit Sample	1,500	PK	DAXWELL	18.05	27,075.0
	8PS					AR UNLIMITED LLC	16.00	24,000.
	8UM					INFINITY SUPPLY AND SERVICE INCORPORATED	18.65	27,975.
						*THE MASTERS DISTRIBUTION SYSTEMS		
						POLLOCK PAPER DISTRIBUTORS	21.20	31,800.
						BIOPLANET CORPORATION	21.50	32,250.

	Award Reason (Y/N)	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	8PS				WEDGE SUPPLY INC	22.61	33,915.0
	8UM				EMPIRE PAPER COMPANY	25.39	38,085.0
					GORDON FOOD SERVICE INC	27.40	41,100.0
					Complete Supply	21.14	31,710.0
					MANS Distribution	18.10	27,150.0
65	Y	Souffle Cup Lids, clear plastic, must fit 2 oz. souffle cup, pkg. 10/250 pkg. per cs.	700	PK	DAXWELL	16.44	11,508.0
	8PS				AR UNLIMITED LLC	14.00	9,800.0
	8UM				INFINITY SUPPLY AND SERVICE INCORPORATED	16.95	11,865.0
					BIOPLANET CORPORATION	17.50	12,250.
					POLLOCK PAPER DISTRIBUTORS	17.93	12,551.
					*THE MASTERS DISTRIBUTION SYSTEMS		
					GORDON FOOD SERVICE INC	21.40	14,980.
					WEDGE SUPPLY INC	21.59	15,113.
					EMPIRE PAPER COMPANY	22.67	15,869.
					Complete Supply	20.96	14,672.
					MANS Distribution	16.45	11,515.
66	Y	Souffle Cups, 3 oz., plastic, Submit Sample	200	PK	DAXWELL	26.77	5,354.
	8PS				AR UNLIMITED LLC	26.00	5,200.
	8UM				INFINITY SUPPLY AND SERVICE INCORPORATED	28.47	5,694.
					WEDGE SUPPLY INC	35.72	7,144.

3PP -Poor product performance 8PS- Failed to provide product sample

Ln#	Award Reaso	UM-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(Y/N)						Price
	8PS				POLLOCK PAPER	37.22	7,444.0
					DISTRIBUTORS		
	8UM				EMPIRE PAPER	45.33	9,066.0
					COMPANY		
					Complete Supply	38.48	7,696.0
					,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
					MANS Distribution	27.61	5,522.0
					WANS DISTINUTION	27.01	3,322.0
67		Souffle Cup Lids, must fit 3 oz. souffle cup,	200	) PK	DAXWELL	24.62	4,924.0
67	Υ	Submit Sample	200	) FK	DAXWELL	24.02	4,924.0
	8UM				INFINITY SUPPLY AND SERVICE INCORPORATED	22.36	4,472.0
	8PS				AR UNLIMITED LLC	27.00	5,400.0
					WEDGE SUPPLY INC	30.43	6,086.0
					POLLOCK PAPER DISTRIBUTORS	31.26	6,252.0
	8UM				EMPIRE PAPER COMPANY	32.64	6,528.0
					Complete Supply	38.56	5,712.0
					MANS Distribution	21.69	4,338.0
68	Y-ALT	Toilet Tissue, single ply, 4 X 3.75 inch sheet, 1000 sheets per roll, 96 rolls per cs.	150	CS	INFINITY SUPPLY AND SERVICE	33.07	4,960.5
					INCORPORATED		
					POLLOCK PAPER DISTRIBUTORS	45.34	6,801.0
					WEDGE SUPPLY INC	47.28	7,092.0
					CENTRAL POLY-BAG CORPORATION	55.00	8,250.0
					00.11 0.12 1.1.0.1		
					EMPIRE PAPER	56.02	8,403.0
					COMPANY		
					Complete Supply	43.01	6,451.5
					Complete Supply	43.01	6,451.9
	Y				Complete Supply  MANS Distribution	43.01	
	Y						
69	Y	Towels, Food Service, white, pkg. 150/cs. Submit Sample	600	) cs		32.09	4,813.5

Ln#	Award Reaso	UM-Unit of Measure other than specified n Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)	iii iteiii bescriptioii	Quantity	OOW	Заррнет	Trice	Price
	Y-ALT	1			INFINITY SUPPLY AND	19.07	11,442.00
	Y-ALI				SERVICE INCORPORATED	13.07	11,112.00
					GORDON FOOD SERVICE INC	48.65	29,190.00
					WEDGE SUPPLY INC	49.87	29,922.00
					POLLOCK PAPER DISTRIBUTORS	50.58	30,348.00
					EMPIRE PAPER	51.90	31,140.00
					COMPANY	10.00	11 204 00
					Pyramid School Products	18.99	11,394.00
	Υ				MANS Distribution	18.45	11,070.00
70	Y	Trash Bag, 33 x 40, heavy weight, clear, capacity 33 gal., "X" sealed bottoms, pkg. 250/cs. Submit Sample.	520	CS	CENTRAL POLY-BAG CORPORATION	14.80	7,696.00
					ADVANCED BLENDING INC	15.12	7,862.40
					*UNIPAK CORP		
					WEDGE SUPPLY INC	16.07	8,356.40
					INFINITY SUPPLY AND SERVICE INCORPORATED	16.94	8,808.80
					DISPOSE N SAVE	17.82	9,266.40
					EMPIRE PAPER COMPANY	41.23	21,439.60
					POLLOCK PAPER DISTRIBUTORS	43.09	22,406.80
					Complete Supply	29.41	15,293.20
					MANS Distribution	16.01	8,625.20
71	N 8P	S Trash Bag, 40 x 46, heavy weight, clear, capacity 40-45- gallon, film weight 10.4 lbs, gauge .68 mils, "X" sealed bottoms, pkg. 125/cs. Submit sample.	630	CS	WEDGE SUPPLY INC	10.27	6,470.10
	Y	220/ G. Submit sample.			*UNIPAK CORP		
					CENTRAL POLY-BAG	10.95	6,898.50

Ln #	Award Reason	1-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)		Δγ				Price
					ADVANCED BLENDING INC	11.94	7,522.2
					DISPOSE N SAVE	13.24	8,341.2
					POLLOCK PAPER DISTRIBUTORS	16.87	10,628.1
					INFINITY SUPPLY AND	24.28	15,296.4
					SERVICE INCORPORATED		
					EMPIRE PAPER COMPANY	59.58	37,535.4
					Complete Supply	13.08	8,240.4
					AAANG Di . il . ii	4455	0.470
					MANS Distribution	14.57	9,179.1
72	Υ	Tray, Lunch, checked, Kraft paper, nested. Approximately 10.5"x7.5"x1.5". 250/case.	2,400	CS	*MYECOPLANET LLC	25.50	61,200.0
		Approved brand-Southern Champion #0590 or similar. Submit sample.					
		similar. Submit sample.			ADVANCED BLENDING	26.03	62,472.0
					INC	20.00	02) . 72.
					INFINITY SUPPLY AND SERVICE	30.83	73,992.0
					INCORPORATED		
					POLLOCK PAPER	31.28	75,072.0
					DISTRIBUTORS		
					GORDON FOOD SERVICE INC	58.37	140,088.0
					WEDGE SUPPLY INC	276.74	664,176.0
					Complete Supply	53.00	127,200.0
					complete supply	33.00	127,200.0
					MANS Distribution	30.33	72,792.
73	Υ	Tray, 5 compartment, Fiber (Paper) Material,	1,500	CS	AR UNLIMITED LLC	31.40	47,100.
		10 3/8" X 8 3/8" X 1 3/16", White, Beige or Approved Color, Approved Brand - Pactiv #					
		YMC5-8000 or equal, pkg 500/cs.					
					WALLACE PACKAGING	32.00	48,000.
					WEDGE SUPPLY INC	33.46	50,190.
					*MYECOPLANET LLC	34.98	52,470.
					WITECOPLANET LLC	34.98	32,470.(
					BIOPLANET CORPORATION	35.50	53,250.0
					COM CIATION		

3PP -Poor product performance 8PS- Failed to provide product sample

Ln #	Award I	8UM Reason	-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)	reason	item bescription	Quantity	OOIVI	Зирупеі	rrice	Price
						*THE MASTERS DISTRIBUTION SYSTEMS	35.50	53,250.00
						INFINITY SUPPLY AND SERVICE INCORPORATED	41.71	62,565.00
						POLLOCK PAPER DISTRIBUTORS	49.61	74,415.0
						Complete Supply	33.88	50,820.0
						MANS Distribution	41.21	61,815.0
74	N	8PS	Tray, 5 compartment, stryofoam, 10 3/8 x 8-3/8"x 1 3/16", laminated top and bottom, white, Approved Brand - Gen-Pak #10500 or equal, pkg. 500/cs. Note: This item is	10,500	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	21.38	224,490.0
	N	8PS	palletized. Unit price must reflect this requirement.			GORDON FOOD SERVICE INC	22.40	235,200.0
	Y-ALT			POLLOCK PAPER DISTRIBUTORS	22.70	238,350.0		
				*MYECOPLANET LLC	24.97	262,185.0		
					AR UNLIMITED LLC	28.00	294,000.0	
						*THE MASTERS DISTRIBUTION SYSTEMS	32.85	344,925.0
						WEDGE SUPPLY INC	39.61	415,905.0
						Complete Supply	24.39	256,095.0
	N	8PS				MANS Distribution	21.23	222,915.0
75	Y		Foil Honeycomb insulated wrap sheet, unprinted, sandwich, 10.5 x 14, pkg. 4/5000 pkg. per cs. Submit Sample	300	CS	ADVANCED BLENDING INC	75.85	22,755.0
						INFINITY SUPPLY AND SERVICE INCORPORATED	80.06	24,018.0
						POLLOCK PAPER DISTRIBUTORS	91.75	27,525.0
						WEDGE SUPPLY INC	94.16	28,248.0
					EMPIRE PAPER COMPANY	111.63	33,489.0	

3PP -Poor product performance
8PS- Failed to provide product sample

Ln#	Award (Y/N)	Reason	1-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
76	Y		Foil Honeycomb insulated wraps, sandwich,	150	cs	ADVANCED BLENDING	84.09	12,613.
			Blue check, 10.5 x 14, pkg. 4/5000 pkg. per cs. Submit Sample			INC		
						POLLOCK PAPER DISTRIBUTORS	124.90	18,735.0
						WEDGE SUPPLY INC	126.11	18,916.
			SERVI	INFINITY SUPPLY AND SERVICE INCORPORATED	128.56	19,284.		
						MANS Distribution	130.42	19,563.
77	77 Y Foil Honeycomb insulated wraps, sandwich, Green check, 10.5 x 14, pkg. 4/5000 pkg. per cs. Submit Sample		Green check, 10.5 x 14, pkg. 4/5000 pkg. per	50	cs	ADVANCED BLENDING	84.09	4,204.
			WEDGE SUPPLY INC	120.11	6,005.			
					INFINITY SUPPLY AND SERVICE INCORPORATED	128.56	6,428.	
					POLLOCK PAPER DISTRIBUTORS	209.35	10,467.	
						MANS Distribution	130.42	6,521.
78	Y	Foil Honeycomb insulated wraps, sandwich, Red check, 10.5 x 14, pkg. 4/5000 pkg. per cs. Submit Sample	150 (	CS	ADVANCED BLENDING INC	84.09	12,613.	
						POLLOCK PAPER DISTRIBUTORS	102.94	15,441.
						INFINITY SUPPLY AND SERVICE INCORPORATED	117.60	17,640.
						WEDGE SUPPLY INC	120.11	18,016.
						EMPIRE PAPER COMPANY	138.28	20,742.
						MANS Distribution	119.18	17,877.
79	Y		Wraps, sandwich, green check, 12 x 12, pkg. 6/1000 pkg. per cs. Submit Sample	50	CS	ADVANCED BLENDING	82.29	4,114.
						WEDGE SUPPLY INC	88.89	4,444.
					INFINITY SUPPLY AND SERVICE INCORPORATED	93.52	4,676.	
						POLLOCK PAPER DISTRIBUTORS	120.27	6,013.

Ln #	Award	Reason	1-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)							Price
						EMPIRE PAPER COMPANY	122.02	6,101
						MANS Distribution	94.35	4,717
80			Bags, Cold, Wicketed, to be used on EPAC Bagging System. Bags are designed to tape seal on EPAC + Bag Sealer. Use to package 5" cookie, cut fruit & vegetables, cantalope or	85	cs	WEDGE SUPPLY INC	0.01	0
	Y		watermelon slice. 5.25" X 10.5" Approved			MANS Distribution	183.82	15,624
81			Bags, Cold, Wicketed, to be used on EPAC Bagging System. Bags are designed to tape seal on EPAC + Bag Sealer. Use to package sack lunch. 10" X 15" Approved Brand - Ekon O		CS	WEDGE SUPPLY INC	0.01	C
	Y		Pac # CD1015NV or equal. Submit Sample.			MANS Distribution	214.24	16,068
82			Bags Sealing Tape, Cold Poly Tape 3/8 wide X 180 yards long. Please bid all available colors. Approved Brand - Ekon O Pac # 1402 list color. Submit Sample of each color.	50	CS	WEDGE SUPPLY INC	0.01	C
Y					MANS Distribution	23.90	1,195	
83			Bagging System + EPAC Equipment, Bagging system includes EPAC + Bag Sealer and EPAC + Bag Stand. Approved Brand - Ekon O Pac EPAC + System or equal. Submit Sample.	100	EA	WEDGE SUPPLY INC	0.01	1
	Y					MANS Distribution	401.10	40,110
84	Y		Hand Towel, roll, single ply, 7.875 inch wide, 1 5/8" core, 350 ft. per roll, 12 rolls per cs.	500	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	19.16	9,580
						WEDGE SUPPLY INC	23.82	11,910
						CENTRAL POLY-BAG CORPORATION	28.50	14,250
						POLLOCK PAPER DISTRIBUTORS	39.12	19,560
						EMPIRE PAPER COMPANY	43.69	21,845
						Complete Supply	23.36	11,680
						MANS Distribution	19.16	9,580
85	Y		Laundry soap, 25 lb. pail. Submit sample.	100	EA	POLLOCK PAPER DISTRIBUTORS	17.89	1,789
						EMPIRE PAPER COMPANY	30.27	3,027
						WEDGE SUPPLY INC	36.06	3,606

The District solicited 567 suppliers and received 20 responses.

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

Ln#	Award Reason (Y/N)	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y-ALT				Complete Supply	27.36	1,368.0
					MANS Distribution	47.12	4,712.0
86	N 8PS	Fiberglass Mop Handle Quickway, 12/cs	100	CS	WEDGE SUPPLY INC	48.78	4,878.
00	N 013						
					EMPIRE PAPER COMPANY	130.56	13,056.
					POLLOCK PAPER DISTRIBUTORS	134.04	13,404.
					Complete Supply	109.69	10,969.
					Pyramid School Products	119.76	11,976.
	Y				MANS Distribution	55.89	5,589.
87		MICROFIBER MOP HEAD MEDIUM, 5" MESH BAND WITH TAIL, 12/CS	500	CS	INFINITY SUPPLY AND SERVICE INCORPORATED	47.68	23,840.
	Y-ALT				WEDGE SUPPLY INC	80.52	40,260.
					POLLOCK PAPER DISTRIBUTORS	86.52	43,260.
					EMPIRE PAPER COMPANY	135.27	67,635.
					Pyramid School Products	110.28	55,140.
	Y				MANS Distribution	47.19	23,595.
88	Y-ALT	LARGE ANGLE BROOM, HEAD & HANDLE IN SAME BOX UNASSEMBLED, 12/CS	400	CS	WEDGE SUPPLY INC	55.68	22,272.
					EMPIRE PAPER COMPANY	70.28	28,112.
					POLLOCK PAPER DISTRIBUTORS	80.64	32,256.
					Pyramid School Products	47.76	19,104.
	Υ				MANS Distribution	34.80	13,920

Ln#	Award Reason	M-Unit of Measure other than specified  Item Description	Quantity	UOM	Supplier	Price	Extended
	(Y/N)						Price
					EMPIRE PAPER COMPANY	22.19	7,766.50
					POLLOCK PAPER DISTRIBUTORS	22.80	7,980.00
					Pyramid School Products	21.48	7,518.00
					MANS Distribution	19.70	6,895.00
90	Y-ALT	FLOOR SCRUB BRUSH, CURVED HEAD, PLASTIC BLOCK THAT WONT CRACK, WARP, MILDEW, WASHABLE RED POLYPRO BRISTLES, FLARE ENDS, 2" TRIM, AND METAL HANDLE, 12EA/CS	150	CS	WEDGE SUPPLY INC	63.36	9,504.00
					EMPIRE PAPER COMPANY	82.00	12,300.00
					POLLOCK PAPER DISTRIBUTORS	110.76	16,614.00
	Y				Pyramid School Products	59.88	8,982.00
					MANS Distribution	51.63	7,744.50
91	N 8PS	8PS METAL HANDLE FOR FLOOR SCRUB BRUSH, 12/CS	75	CS	WEDGE SUPPLY INC	36.72	2,754.00
					POLLOCK PAPER DISTRIBUTORS	62.88	4,716.00
					Pyramid School Products	58.68	4,401.00
	Y				MANS Distribution	50.53	3,789.75
92	Y-ALT	DIVIDED BUCKET WITH DOWNPRESS COMBO, EASY DIRTY WATER EMPTY	100	EA	WEDGE SUPPLY INC	116.11	11,611.00
					POLLOCK PAPER DISTRIBUTORS	146.98	14,698.00
					Pyramid School Products	79.98	7,998.00
	Y				MANS Distribution	65.13	6,513.00
93	N 8DB	SQUEEGEE, 22" WATER WAND, 10/CS	100	CS	WEDGE SUPPLY INC	36.60	3,660.00
	Y				POLLOCK PAPER DISTRIBUTORS	107.30	10,730.00
	Y-ALT			EMPIRE PAPER COMPANY	193.60	19,360.00	
		The District of 1507					•

3PP -Poor product performance

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

		1-Unit of Measure other than specified	I	l	Ia "	I	
Ln #	Award Reason (Y/N)	Item Description	Quantity	иом	Supplier	Price	Extended Price
					Pyramid School Products	129.90	12,990.00
					MANS Distribution	158.00	15,800.00
94		56" 20-GAUGE STEEL FRAME ALUMINUM HANDLE WITH SOCKET CLAMP (FOR SQUEEGEE), 10/CS	50	CS	WEDGE SUPPLY INC	0.01	0.50
	Υ				POLLOCK PAPER DISTRIBUTORS	55.80	2,790.00
	Y-ALT				EMPIRE PAPER COMPANY	244.20	12,210.00
					Pyramid School Products	199.90	9,995.00
					MANS Distribution	219.00	10,950.00
95		Microfiber towel, Green, 49 gram. 16"x16". 12 per case. Submit sample.	400	BX	POLLOCK PAPER DISTRIBUTORS	8.16	3,264.00
					EMPIRE PAPER COMPANY	10.11	4,044.00
					INFINITY SUPPLY AND SERVICE INCORPORATED	37.14	14,856.00
					WEDGE SUPPLY INC	111.60	44,640.00
	Y				Complete Supply	6.73	2,692.00
	N 8PS				Pyramid School Products	6.72	2,688.00
					MANS Distribution	18.35	7,340.00
96	Y	CLEANING PADS, GENERAL PURPOSE HAND PAD, MEDIUM DUTY, GREEN, 6" X 9", 6 BGS/10 EA/CS	100	CS	POLLOCK PAPER DISTRIBUTORS	4.59	459.00
	Y-ALT				EMPIRE PAPER COMPANY	6.40	640.00
					WEDGE SUPPLY INC	29.64	2,964.00
					Complete Supply	16.76	1,676.00
					Pyramid School Products	14.99	1,499.00
					MANS Distribution	14.08	1,408.00
97		DISINFECTING WIPES IN PLASTIC BUCKET, 1400/CS, CLOROX OR EQUAL, SUMBIT SAMPLE The District solicited 567 supplie	500		WEDGE SUPPLY INC	0.01	5.00

#### \*Confidential

Ln#		I-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended
LN #	Award Reason (Y/N)	item Description	Quantity	UUIVI	Supplier	Price	Price
		T					
	Υ				POLLOCK PAPER DISTRIBUTORS	38.75	19,375.00
	Y-ALT				EMPIRE PAPER COMPANY	40.00	20,000.00
					Pyramid School Products	91.98	45,990.00
					MANS Distribution	57.20	28,600.00
98		DISINFECTING WIPES-REFILL PACK ONLY, 1400/CS, CLOROX OR EQUAL, SUMBIT	1,000	CS	WEDGE SUPPLY INC	0.01	10.00
		SAMPLE					
	Υ				POLLOCK PAPER DISTRIBUTORS	62.34	62,340.00
	Y-ALT				EMPIRE PAPER COMPANY	63.81	63,810.00
					Pyramid School Products	79.98	79,980.00
	N 8PS				MANS Distribution	44.98	44,980.00
99	Υ	Sponge Mop. 9" natural celluose sponge with scrubber strip; steel handle with swivel hang	300	EA	WEDGE SUPPLY INC	11.18	3,354.00
		cap; heavy guage metal frame with soft grip					
		on wringer level.					
					POLLOCK PAPER DISTRIBUTORS	19.81	5,943.00
					EMPIRE PAPER COMPANY	38.78	11,634.00
					Pyramid School Products	17.99	5,397.00
					MANS Distribution	36.03	10,809.00
		Charles 7.75 Warrand Sanka days	200	66	DANNAFIL	27.47	5 424 00
100	Υ	Straw Plastic, 7.75". Wrapped, jumbo, clear. 24/500/case.	200	CS	DAXWELL	27.17	5,434.00
					EMPIRE DARES	42.42	0.000.00
					EMPIRE PAPER COMPANY	43.18	8,636.00
					WEDGE SUPPLY INC	52.64	10,528.00
					WEDGE SUPPLY INC	32.04	10,528.00
					POLLOCK PAPER	70.93	14,186.00
					DISTRIBUTORS	70.93	14,100.00
					MANS Distribution	47.40	0.400.00
					NOITUDITIZED CRIMINI	47.48	9,496.00
4.5		WIDE DOOR ALCOHOL CHAR IN (200 (20)		CS	WEDGE CURRING	0.01	2.00
101		WIPE, PROBE, ALCOHOL SWAB, IW (200/CS)	200	CS	WEDGE SUPPLY INC	0.01	2.00
	Υ				POLLOCK PAPER DISTRIBUTORS	2.60	520.00
		The District solicited 567 supplie	na and na	ani 1 20	MOGRAPHA		

The District solicited 567 suppliers and received 20 responses.

# BID TABULATION GARLAND INDEPENDENT SCHOOL DISTRICT

3PP -Poor product performance 8PS- Failed to provide product sample 8UM-Unit of Measure other than specified

#### \*Confidential

Ln#	Award Reason (Y/N)	I-Unit of Measure other than specified Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(11.1)						
	Y-ALT				EMPIRE PAPER COMPANY	11.94	2,388.00
					Complete Supply	5.49	1,098.00
					MANS Distribution	21.27	4,254.00
102	Y	ZIP TOP BAG, FREEZER, 2 GALLON		CS	POLLOCK PAPER DISTRIBUTORS	15.05	3,762.50
					WEDGE SUPPLY INC	56.55	14,137.50
					INFINITY SUPPLY AND SERVICE INCORPORATED	64.94	16,235.00
	Y-ALT				Pyramid School Products	19.98	4,995.00
					MANS Distribution	63.59	15,897.50
		Rows 1 - 507 (					

Rows 1 - 507 (All Rows)